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And even if you find cause to say it existed; it can be said, he ate it

OVERVIEW

X217 argues that we cannot compare the case of 0"2¥77 MM (where we assume
there is no n&kmw if a 1M 77910 frequent it) to the case of yni when we saw the
7791 being yni 7. By 0™ 1T there is a doubt whether or not a 791 was ever
buried there (one P90), and even if it was buried there, it is possible that a 17717 ate
it up (a second pPo0). Generally if there is a Xp°50 P90 (a further doubt to be lenient
even if we assume the more stringent option of the first po0), the ruling is that we
are lenient. Therefore by 2"15vn NM17171 since there is this X050 P50, we are lenient.
moon challenges this assumption that a Xp*90 290 should cause us to be lenient in
the case of 2"2v7 MMTA.

*
mooin asks:
— 1D NN NIV 022310 T2I¥N NN RN 9IRN ON)
And if you will say; but the dwelling places of the gentiles are considered a

private domain -

— NP0 ¥P290) MPIOD MAINY 19> HNRY BIPN Y3 (17n v9) MINV NIVNA )M
And we learnt in a mw» in Ma7Y noon; ‘any place in which you can add
doubts and doubt of these doubts; if it is -

— N0 Mon5n mwaa

In a >'"'79, it is X»W’ regardless of the Mmp>o0 and MpP°o0 *p*o0. How does X271 explain that
2"dYn M are MAv (if a 1 7790 frequent them) because it is a X0 PoY, but in a *"'77 even
a 0" is Xny?!

N1B0IN answers:
— 52590 INWY NPIOD TN 37 K91 919 Y

And one can say; that this initial oo (whether or not a 951 was buried there) is

not comparable to other n»>o% (where we maintain that >"772 0"0 is ¥nv). This concern
(of o991) is highly unlikely

"In a1"77 it is MAw even if there is only one MY pOO.

2 We derive the ruling that *"7772 XM P90 (and even 0"0) is XnY from 7VI0. The 770 refers to the 7V MO°R with the
term XMW (see 3,7 [Xw1] 12712). The Mo°X of 79v2% 7vI0 is based only on a poo (perhaps she was 7111). The place of
this po0 is in a secluded area (a *"717). The 770 teaches us that in a >"{17 even a XMV 290 is MOX (and by extension,
even a 0"0 is also 7OX; see X2 PO 77"7 K,> N1BOMN).
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—>AN%2 DY 37 Y93 13 XYY MY 19 NN ININT
For why should we assume that there is a ®51 in this house?! And therefore this

790 1s comparable to a poo of ‘entering’, where we are more lenient (and will be 2n» in
the case of a 0"0).

mooIn offers an alternate solution:
—INTIY 2199) NIN D9X9N PODT MPIOD INYN 92Ty NINYIN 999N 93) ON

Or you may also say; the 7n°77 that perhaps the 21 77217 ate it, is superior than
other mpsse, for the poo that a 77711 ate it, is common, and it is close to being a

certainty that the 97m 7771 ate it up. Therefore when there is such a strong possibility, then
even °"7172 it is MY (by a Xp*50 poo).

mooIN proves his point the 7°N79R PO is *XM? 21p:
:4‘,79'071 T NEPY 9929127 592 INT) 27910 1DaNT Y1)

And you know that this is true, for shortly the X723 wants to say that this ppo of

7°n2oK 1’k should be able to detract from the certainty that yan was present and not
require further p>72. This proves that it is a strong possibility. Therefore it is 7170 even in >"77 (if
there is a 0"0).

SUMMARY
Even in a >"737; a X°2 790 or a 773777 90 (like 7°n%oK 712°R) is a cause to be lenient.

3 The ?"n in that 71w in MI7Y maintains that the ruling of X»v *"772 0"0 is even if there was a 90 if he entered the
house where the ™Y was (and in addition there is a 90 if he touched it), nevertheless X»v '90. However °27
19X there (see also the X713 on X,) maintains that if there is a 7X°2 o0 (if he even entered the house) then 50
MY (even if there only is this one Poo, according to >"w1). The rule of XnY 150 is only if it is a ¥an Po0 (whether he
touched it or not). X"7 maintains that just as by 7110 there is no 1X°2 po0 (for they were definitely 777n03), only a po0
van (whether she was n19¥23), therefore only a ¥an 290 is Rnv but not a 782 po0. In our case (it is possible that) even
the oo agree with X", The 0'non argue with him concerning 7% P90 by a house, where according to the o°mon
there is no essential difference whether the po0 is if he entered the house or (in the event that he entered the house) if
he touched it; as long as we know that in the house there was a X1t 727 or something which is perhaps Xnv, we say
that Xnv P00 *"7172 (even by a 0"0 of 71X°2 pod). However in our case, by 2"3vi1 n117» there is no factual basis to
assume that there ever was a 791 buried here (2"12¥71 M7 are ¥nv even if only a male »21 lived there [without a
wife]). It is highly unlikely that there was ever a 791 there; therefore even the 0151 may agree that this is considered
a 7X°2 P90 and the rules of >"772 XMWY PO do not apply. See ‘Thinking it over’ # 2. See fX°2 P20 7"7 X,> M20IN and
the (71787) R"wnn there.

* After X7 gave his answer (that P90 is o0 7 X*X1 but P50 cannot be X771 ™71 X'X1), the X3 challenged him; ‘is
it indeed so that a P50 cannot be X7 > X°X1’! The inference is that the X793 maintained that even though the case
of 11°192 77911 777A is considered a X7, the o0 of 7°NYIR IR can be X7 > XX, It would seem obvious that an
‘equally balanced’ o0 can surely not be *XT1 71 X%, it is only a 2°x77 poo which is "RT2 211p that the Xna
expected that it should be able to be >X71 *7n X°¥m. By such a 23777 oo the rule of Xnv 712 nxmw poo does not
apply (if it is a 0"D).
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THINKING IT OVER
1. Is the rule of ¥1v >"7772 %MW P50 apply also to 11217 ARNW?

2. Is m1v °"772 AR PO, only in conjunction with an additional 90, or is it MY
even without an additional ?90 (and how can we reconcile it with the ruling of
0"y MMT)?

5 See HRIAW 127
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